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���g�P���M�y�8 ¢¡�£_¤k¥§¦�¨_©�ªV«¬£�­¯®J°±¦b²h³]¦b«¬£�³#«¬­�®#£�³]®|ª�´�µ]£_©1«�®#£g¤�¥�¦�¨_©bªO¶�®�·b¸§¹�¥�®º¦b²¥�¦�¹�»b¼�£�®]¸§¸]½
¾ ¿ÁÀVÂmÃDÄ�Å?ÆOÇ�È�É¢Ê�Ë#ÈhÌ�Å?Æ�É�Ç�ÂÍÌ�Ë#ÆOÈ
Îº®O¸§¤k¹¯­¯©�¨�¥�¦�Ï�·bÏ�«¬ÐÑ«Ñ¤x©D­�«¬¸Ò¤k¥§«¬Ï�¹¯¤�«¬¦�£¯¸-¦AÓb®]¥�¤�¼�®V£�·|¤k¹¯¥k·bÐ�£g¹�¶�ÏS®]¥§¸]½�ÔÕ¼�®V¸�®J¤%¦b²m·bÐ¬Ð¸�¹�³Y¼¢­¯«¬¸§¤�¥�«ÑÏ�¹¯¤k«Ñ¦�£�¸�«Ñ¸V­¯®]£�¦b¤�®]­

M1
+(N)

·b£�­Ö¤k¼�®�¸�®J¤�¦b²
P ∈ M1

+(N) × ¼�«Ñ³Y¼¢·b¥§®¸�¹�¨�¨S¦�¥Ò¤k®]­�Ï_© {1, 2, · · · , n} «Ñ¸Õ­�®]£¯¦b¤k®#­ M1
+(n)

½Î:®�¹�¸�®
Uk

¤�¦!­�®]£�¦|¤k®�·�»�®#£�®]¥§«¬³�¹�£�«Ø²/¦�¥�¶�­�«Ñ¸§¤�¥�«¬Ï¯¹¯¤k«Ñ¦�£Ù¦AÓ�®#¥�·
k Ú ®#Ð¬®]¶�®]£_¤�¸�®#¤]ª·b£�­�«Ø²B·|Ð¬¸�¦

Uk+1, Uk+2, · · ·
·b¥�®�³#¦�£�¸�«Ñ­�®]¥§®]­Bª1«Ñ¤�«Ñ¸q·b¸�¸§¹�¶D®#­D¤�¼�·|¤q¤k¼�®-¸�¹¯¨�¨=¦b¥§¤k¸Í·b¥§®«¬£�³#¥�®�·|¸�«¬£¯»�½�ÛÍ©

H
·|£�­ÜÏ_©

IC × ®�­�®]£�¦|¤k®:ÝJÞ�ß6àkáYâSã�·b£¯­åäHÞSæ1Ý§çºájè�éYáyäHÞPéJä6æ1ÝJÞPéYÝJª¥�®]¸§¨=®#³#¤�«ÑÓ�®#ÐÑ©bªS«ê½ë®|½

H(P ) = −
∞

∑

k=1

pk ì¬í pk ,

IC(P ) =
∞

∑

k=1

p2
k .

∗ îBïyðòñ�óPôJõ÷ö�óBøJñ�ñêù�ú�úbôJõêûêü�ý!þ�ÿ�ûêï�ü��?ø���ð ñêï�� ø[ûêù�õ ø����
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´�®]¸§¹�ÐÑ¤�¸V«Ñ£_Ó�¦�ÐØÓ «Ñ£�»�«¬£�­�®[°�¦b²�³]¦�«Ñ£�³]«Ñ­�®]£�³#®D¶D·�© ÏS®D¥§®#²/¦�¥§¶�¹�Ðu·y¤k®]­�«Ñ£Ö¤�®]¥�¶�¸V¦b²')(JÞ�ãyä�ÝJÞ�ß6àYáYâSã ájè�áyà§æ1ÝJà
2 * H2 + ·b¸

H2(P ) = − ì¬í IC(P ).

,x£)- ·|¥�¥�®#¶D¦/.]¸B·b£�­�Ô8¦b¨�¸101®3254�6�¤k¼�®�®[°¯·b³#¤�¥�·b£�»�®�¦b²g¤�¼�®�¶�·|¨
P y (IC(P ), H(P ))× «Ñ¤k¼ P Ó|·b¥§©1«Ñ£�»�¦�Ób®]¥�®]«Ø¤k¼�®#¥

M1
+(n)

¦�¥
M1

+(N) × ·|¸Í­�®J¤k®#¥�¶�«¬£�®#­B½�¡q·b¥�ÐÑ«¬®#¥�¥�®]Ð¬·|¤k®#­× ¦�¥�7!«¬£�³#Ð¬¹�­�®#¸98-¦AÓb·|Ð¬®#Ó1¸�71«;:<25=�6êª Ô ®]Ï�ÏS®%·|£�­?> × ©b®]¥@2�A�6êª Û�®]£ Ú Û�·b¸§¸k·|¤@2 & 6÷ªCB�¦bÐ¬«¬³�2ED�6·b£�­GFM®#­�®]¥�·|£�­IH�®]¥�¼�·AÓJ2�K�6ê½qÔÕ¼�®�¥k·b£¯»�®]¸�«¬£MLg¹�®#¸§¤�«¬¦�£Bª�¤�®]¥§¶D®#­
IC/H Ú æbä"N
Obà�NQPSRJª

× ®#¥�®V­�®]£�¦|¤k®]­ ∆
ª�¥�®]¸§¨=®#³#¤�«ÑÓ�®#ÐÑ©

∆n T
∆ = {(IC(P ), H(P )) | P ∈M 1

+(N)} ,
∆n = {(IC(P ), H(P )) | P ∈M 1

+(n)} .
ÛÍ©)Ub®]£¯¸�®]£WVë¸8«¬£�®�L1¹�·bÐ¬«Ø¤x© × ®YX�£�­�¤k¼�·|¤

H(P ) ≥ − ìÑí IC(P )
ª�¤�¼g¹�¸�¤k¼�®qÐ¬¦b»_·b¥�«Ø¤k¼�¶�«¬³³]¹�¥ÒÓ�®

t y (t,− ì¬í t) Z 0 < t ≤ 1
«¬¸�·)Ð¬¦ × ®]¥�ÏS¦�¹�£¯­�«¬£�»�³]¹�¥ÒÓ�®Ù²/¦�¥V¤k¼�® IC/H Ú­�«u·b»b¥k·b¶�¸]½ÜÔÕ¼�®�¨S¦�«¬£_¤�¸

Qk =
(

1
k
, ìÑí k) Z k ≥ 1

·|Ð¬Ð�ÐÑ«¬®Ù¦�£4¤k¼¯«¬¸h³]¹¯¥§Ó�®|½ ÔÕ¼�®J©³]¦�¥§¥�®]¸§¨=¦b£�­º¤k¦�¤k¼�®D¹�£�«Ø²/¦�¥�¶ ­�«Ñ¸§¤�¥�«¬Ï¯¹¯¤k«Ñ¦�£�¸ T (IC(Uk), H(Uk)) = ( 1
k
, ì¬í k) ½\[�¦¦b¤k¼�®#¥q¨=¦�«Ñ£_¤k¸�«¬£�¤�¼�®�­�«u·|»�¥k·b¶

∆
ÐÑ«¬®�¦�£h¤�¼�®�Ð¬¦�»_·|¥�«Ñ¤�¼�¶�«¬³�³]¹�¥ÒÓ�®bª1«¬£�²6·|³#¤�ª

Qk Z k ≥ 1·b¥�®D®J°1¤k¥§®]¶D·bÐq¨=¦�«Ñ£_¤k¸V¦b²
∆
«¬£�¤k¼�®D¸�®#£�¸�®�¤�¼�·|¤V¤k¼�®D³]¦�£_Ób®J°º¼1¹¯Ð¬Ð�¤k¼�®J©º­¯®#¤k®#¥�¶�«¬£�®³]¦�£_¤Y·|«¬£�¸

∆
½][�¦!¸�¶D·bÐ¬ÐÑ®]¥Í¸�®#¤�¼�·b¸Õ¤�¼�«¬¸Õ¨�¥§¦�¨S®]¥§¤x©b½F?«Ñ»�¹�¥§® & ª�·b­�·|¨¯¤k®#­ ²/¥§¦�¶ 2^4Q6÷ª�«ÑÐ¬ÐÑ¹�¸§¤�¥k·|¤�®]¸�¤�¼�®:¸§«Ñ¤�¹�·|¤k«Ñ¦�£å²/¦�¥ ¤k¼¯®:¥§®]¸§¤�¥�«Ñ³#¤k®#­­�«u·b»b¥k·b¶�¸

∆n

½4ÔÕ¼�®\7b®J©2¥�®]¸§¹�ÐÑ¤!¦|²_2^4�6�¸§¤k·|¤k®#¸�¤�¼�·|¤
∆n

«¬¸h¤�¼�®�Ï=¦�¹¯£�­�®]­2¥�®#»�«¬¦b£­�®#¤�®]¥�¶�«¬£�·|¤k®#­ÖÏ_©Ö· ³]®#¥§¤k·b«¬£`Ub¦�¥§­�·b£Ö³]¹�¥ÒÓ�®�­�®#¤�®]¥�¶�«¬£¯®]­�Ï_©
n
¸�¶�¦ ¦b¤�¼Ö·b¥�³#¸]ª�Ó1«bab½¤k¼�®9cj¹¯¨�¨=®#¥q·b¥�³�dÕ³#¦�£�£�®#³#¤k«Ñ£�»

Q1

·b£�­
Qn

·b£�­!¤k¼�®#£
n−1

cjÐÑ¦ × ®]¥q·|¥�³]¸edÕ³#¦�£�£�®#³#¤k«Ñ£�»
Qn × «Ø¤k¼ Qn−1

ª
Qn−1 × «Ñ¤k¼ Qn−2

®#¤�³b½q¹�£_¤k«ÑÐ
Q2 × ¼�«¬³Y¼�«¬¸Õ³#¦�£�£�®#³#¤�®]­ × «Ø¤k¼ Q1

½,x£f2^4�6êªm¸§®]® ·bÐÑ¸�¦`2Eg�6÷ª?¤�¼�®�¶D·b«Ñ£:¥§®]¸�¹¯ÐÑ¤ × ·b¸�¹�¸�®#­º¤k¦�­¯®#Ó�®#Ð¬¦�¨º³]¦�£�³#¥�®J¤k®Ù¹�¨¯¨=®#¥Ï=¦�¹¯£�­�¸!²/¦�¥�¤k¼�®�®#£g¤�¥�¦�¨_©Ü²/¹�£¯³#¤k«Ñ¦�£B½ih%¹�¥!³]¦b£�³]®#¥�£ ¼¯®]¥�® × «ÑÐ¬Ð�ÏS®�Ð¬¦ × ®#¥hÏ=¦b¹�£�­�¸#½ÔÕ¼�®�¸Ò¤k¹�­ ©!­�®]¨S®]£�­¯¸�³]¥§¹�³]«¬·bÐ¬ÐØ©�¦b£�¤�¼�®�£�·|¤k¹¯¥�®�¦b²P¤�¼�®�Ð¬¦ × ®]¥�·b¥�³#¸]½Y,x£G254�6�¤k¼�®#¸�®�·b¥�³#¸
× ®#¥�®V«¬­�®#£g¤�«jX�®#­B½Y,x£�­�®#®]­Bª�¤�¼�®V·b¥�³�³#¦�£�£�®#³#¤k«Ñ£�»

Qk+1 × «Ø¤k¼ Qk

«Ñ¸�¤k¼�®�³#¹�¥§Ób® × ¼�«Ñ³Y¼¶�·�© ÏS®�¨�·b¥�·b¶D®J¤k¥§«ba]®#­�·b¸Õ²/¦�Ð¬ÐÑ¦ × ¸ T
s y ~ϕ((1 − s)Uk+1 + s Uk)

× «Ñ¤k¼ s ¥�¹�£¯£�«¬£�»%¤�¼�¥�¦b¹�»�¼h¤k¼�®Õ¹¯£�«Ñ¤�«Ñ£_¤k®]¥ÒÓ|·bÐ�·b£¯­ × «Ñ¤k¼ ~ϕ ­¯®]£�¦b¤�«¬£�»%¤�¼�® IC/H Ú PkNJâ»�«ÑÓb®]£�Ïg©
~ϕ(P ) = (IC(P ), H(P )) Z P ∈M 1

+(N)
½mlÔÕ¼�®�­�«Ñ¸§¤�¥�«¬Ï¯¹¯¤k«Ñ¦�£�¸�«Ñ£

M1
+(N)

²6·bÐÑÐB«¬£
IC Ú éYá�P âon¬Ý§ç�äHß6ãÙé�npN�R RAÝ RJ½mÔÕ¼�® k V ¤k¼�³]Ðu·|¸�¸³]¦�£�¸§«¬¸Ò¤k¸�¦b²h·bÐÑÐ

P ∈ M1
+(N)

²/¦�¥ × ¼¯«¬³Y¼ IC(Uk+1) < IC(P ) ≤ IC(Uk)
¦�¥]ª®qLg¹�«ÑÓ|·bÐÑ®]£_¤kÐØ©�ª�²/¦�¥ × ¼�«Ñ³Y¼ 1

k+1
< IC(P ) ≤ 1

k

½9,x£�¦�¥�­�®#¥-¤�¦D­¯®#¤k®#¥�¶�«¬£�®�»�¦1¦1­�ÐÑ¦ × ®#¥Ï=¦�¹¯£�­�¸Ù²/¦�¥�¤�¼�®�®#£g¤�¥�¦�¨_© ¦b²O·¢­�«¬¸Ò¤k¥�«ÑÏ�¹¯¤�«¬¦�£
P
ª�¦�£�®GX�¥�¸Ò¤ ­�®#¤�®]¥§¶D«Ñ£�®]¸�¤�¼�®

IC Ú³]¦�¶�¨�Ð¬®[° «Ñ¤x©4³]Ð¬·b¸�¸
k
¦|²
P
½rh%£�®�¤k¼�®#£å­�®#¤�®]¥§¶D«Ñ£�®]¸�¤k¼�·|¤�Ó|·bÐ¬¹¯®�¦b²

s ∈]0, 1]
²/¦�¥

s � �%úyø#ñêñêð���tÍóPüu��ô[û÷ümûêïyø[û s y ~ϕ((1 − s)U1 + sUn) úyøJõ÷ø�v�üjûêõ÷ð�wÒü§ñSûêïyü�ù�ú�úbüÒõ øJõx	�%
K



1

n

1

k+1

1

k
10

ln n

ln(k + 1)

ln k

0 IC

H

∆n

Q1

Qk

Qk+1

Qn

F?«Ñ»�¹�¥§® & T ÔÕ¼�®�¥�®#¸§¤k¥§«¬³J¤k®]­ IC/H Ú ­�«¬·b»�¥k·|¶ ∆n

ª
(n = 5)

½

D



× ¼�«¬³Y¼ IC(Ps) = IC(P ) × «Ñ¤�¼ Ps = (1 − s)Uk+1 + s Uk
½�ÔÕ¼�®#£

H(P ) ≥ H(Ps)«¬¸�¤k¼¯®�¤�¼�®]¦b¥�®#¤�«¬³]·bÐ¬ÐØ©�ÏS®]¸Ò¤�ÐÑ¦ × ®#¥-ÏS¦�¹�£¯­�¦b² H(P )
«¬£ ¤k®#¥�¶�¸Õ¦b²

IC(P )
½,x£D¦�¥�­�®#¥�¤k¦ × ¥�«Ñ¤�®-¤�¼�®-¸�¦�¹�»b¼g¤ÍÐ¬¦ × ®]¥qÏS¦�¹�£�­�¸�²/¦�¥ H(P )

«Ñ£�·�³]¦�£_Ób®]£�«Ñ®]£_¤�²/¦�¥§¶�ª
× ®V«¬£_¤k¥§¦ ­¯¹�³]®%¤�¼�® k V ¤k¼ÖàYÝ�npNbß6äzybÝ)P�Ý1N�R�{1àYÝ�ájè�àká�{�O�|1ÞPÝ R R�Ï_©

MRk(P ) =
IC(P ) − IC(Uk+1)

IC(Uk) − IC(Uk+1)
= k(k + 1)

(

IC(P ) − 1

k + 1

)

. * & +
ÔÕ¼�«¬¸O­�®�X�£¯«Ñ¤k«Ñ¦�£:·b¨�¨�ÐÑ«¬®]¸�¤�¦�·b£_©

P ∈ M1
+(N)

Ï�¹¯¤�¥§®�·bÐÑÐÑ©bª ¦b£�ÐÑ©�­�«Ñ¸§¤�¥�«¬Ï¯¹¯¤k«Ñ¦�£�¸�¦b²
IC Ú ³]¦�¶�¨�Ð¬®[° «Ñ¤x©4³]Ð¬·b¸�¸

k × «¬ÐÑÐ-ÏS®)¦|²�¥�®]ÐÑ®#Ó|·b£�³#®)¤k¦º¹�¸]½~}�ÐÑ®�·b¥§ÐÑ©bª
MRk(Uk+1) =

0
ª
MRk(Uk) = 1

·b£¯­ ²/¦�¥D·b£_© ­�«Ñ¸§¤�¥�«¬Ï¯¹¯¤k«Ñ¦�£K¦|²
IC Ú ³]¦�¶�¨�ÐÑ®J° «Ñ¤x©Ü³#Ðu·b¸§¸ k ª 0 ≤

MRk(P ) ≤ 1
½u� ¸�«¬¶�¨�ÐÑ®�³�·bÐÑ³]¹�Ð¬·|¤k«Ñ¦�£�¥§®#Ó�®]·bÐ¬¸q¤k¼¯®�²6·|³#¤q¤k¼�·y¤�²/¦�¥�·�­¯«¬¸§¤�¥�«ÑÏ�¹¯¤k«Ñ¦�£h¦�£¤k¼�®ÍÐ¬¦ × ®#¥m·b¥§³�³#¦�£�£�®#³#¤k«Ñ£�» Qk+1 × «Ø¤k¼ Qk

¤k¼�®�²/¦�Ð¬ÐÑ¦ × «Ñ£�»�¹�¸�®J²/¹�Ð¯¸Ò¤k¥§¹�³#¤�¹�¥k·bÐ1¥�®#Ðu·|¤�«¬¦�£¼�¦�Ð¬­¯¸ T
MRk((1 − s)Uk+1 + s Uk) = s2 . * K +,x£ÖÓ «Ñ® × ¦|²�¤k¼¯®�·bÏS¦AÓ�®�¸k·b«Ñ­Bª «Ñ¤�²/¦�Ð¬ÐÑ¦ × ¸%¤k¼�·|¤V²/¦�¥V·b£_©�­�«Ñ¸§¤k¥§«¬Ï�¹ ¤k«¬¦b£ P ¦|²

IC Ú³]¦�¶�¨�Ð¬®[° «Ñ¤x©�³]Ð¬·b¸�¸
k
ªM¤k¼¯®V¤�¼�®]¦�¥§®#¤�«¬³�·|Ð¬ÐÑ©ÙÏ=®#¸§¤%ÐÑ¦ × ®#¥�ÏS¦�¹�£�­�²/¦�¥ H(P )

«¬£�¤�®]¥§¶D¸-¦b²
IC(P )

«Ñ¸Õ»�«ÑÓb®]£�Ïg©�¤k¼�®�«¬£¯®qLg¹�·bÐÑ«Ñ¤x©
H(P ) ≥ H

(

(1 − x)Uk+1 + xUk

) * D +
× ¼�®]¥§® x «¬¸�­�®J¤k®]¥§¶D«Ñ£�®]­�¸�¦O¤k¼�·|¤ P ·b£�­

(1−x)Uk+1 +xUk

¼�·AÓb® ¤k¼¯®�¸�·b¶D®-«¬£¯­�®J°¦b²?³#¦�«¬£¯³]«¬­¯®]£�³#®bª�«÷½ ®b½
x2 = MRk(P ) . * 4 +ÛÍ© × ¥�«Ø¤k«Ñ£�»Ù¦�¹¯¤ ¤k¼�®�¥§«¬»�¼_¤ Ú ¼�·b£¯­ Ú ¸§«¬­�®O¦b² * D + × ®�¤k¼�®#£�¦�Ï¯¤Y·|«¬£)¤�¼�®�ÏS®]¸§¤�ÐÑ¦ × ®#¥Ï=¦�¹¯£�­Ù¦b²B¤�¼�®�¤x©1¨S®%­�«Ñ¸�³]¹¯¸�¸�®#­B½]> ¦�«Ñ£�»�¸§¦�¦�£�®�¦�Ï¯¤Y·|«¬£�¸Í·�Lg¹�·b£_¤�«Ñ¤x©�¦b²�¶�«Ø° ®]­�¤x©1¨=®|ª«¬£_Ó�¦�ÐØÓ1«¬£�»:Ð¬¦�»_·|¥�«Ñ¤�¼�¶�«¬³�·b£�­ ¥k·|¤�«¬¦�£�·|Ð�²/¹¯£�³#¤�«¬¦�£�¸#½�, ¤ «Ñ¸�­�®#¸�«Ñ¥k·bÏ�ÐÑ®�¤�¦¢¸�®]·b¥�³Y¼ ²/¦�¥¸§¤k¥§¹�³#¤�¹�¥k·|Ð¬ÐÑ©�¸§«¬¶�¨�Ð¬®#¥�ÏS¦�¹�£�­¯¸]ªB»�®J¤�¤�«¬£�»Ù¥§«¬­�¦|²qÐ¬¦�»_·|¥�«Ñ¤�¼�¶�«¬³%¤k®#¥�¶�¸]½�ÔÕ¼�®�¸�«¬¶�¨�ÐÑ®]¸§¤·b£�­�¨=¦�¸§¸�«ÑÏ�ÐÑ©�¶D¦�¸Ò¤�¹�¸�®J²/¹�Ð�ÏS¦�¹�£�­�¦b² ¤k¼�«Ñ¸�¤x© ¨S®V«¬¸�¤k¼¯®VÐÑ«¬£�®]·b¥�ÏS¦�¹�£�­

H(P ) ≥ H(Uk)MRk(P ) +H(Uk+1)(1 −MRk(P )) *x� +
× ¼�«¬³Y¼ ®[°¯¨¯¥�®]¸§¸�®#¸V¤�¼�®�²6·b³J¤�¶D®#£_¤k«¬¦b£�®]­�¨¯¥�®#Ó1«Ñ¦�¹�¸�ÐØ©�¥�®]»�·b¥�­�«Ñ£�»�¤�¼�®�®J°1¤�¥�®]¶D·bÐ8¨=¦�¸§« Ú¤k«¬¦b£D¦b²=¤k¼�®�¨S¦�«¬£_¤�¸

Qk

«¬£!¥�®#Ðu·|¤�«¬¦�£h¤k¦�¤k¼¯®�¸§®#¤
∆
½u[�¦b¤�®-¤�¼�·|¤ *x� + «Ñ¸q¤�¼�®-Ï=®#¸§¤ÍÐ¬«¬£¯®�·b¥Ð¬¦ × ®#¥�ÏS¦�¹�£¯­�·b¸-®qLg¹�·bÐÑ«Ñ¤x©�¼�¦bÐ¬­�¸Õ²/¦�¥ P = Uk+1

·b¸ × ®#Ð¬Ð ·b¸�²/¦�¥ P = Uk

½�� £�¦|¤k¼�®#¥³]¦�¶�¶D®#£_¤�«Ñ¸O¤k¼�·|¤O¤�¼�¦�¹�»b¼ *x� + × ·b¸�­�®JÓ�®#Ð¬¦�¨S®]­ × «Ø¤k¼¢·�Ó1«¬® × ¤�¦�­�«Ñ¸§¤k¥§«¬Ï�¹ ¤k«¬¦b£�¸�¦b²
IC Ú ³]¦�¶�¨�Ð¬®[° «Ñ¤x©O³]Ðu·|¸�¸ k ª�¤k¼¯®-«Ñ£�®qLg¹�·|Ð¬«Ñ¤x©O¼�¦�ÐÑ­�¸m²/¦�¥�·|Ð¬Ð P ∈M1

+(N) * Ï¯¹¯¤�«¬¸ × ®�·Q7|®]¥¤k¼�·b£h¤�¼�®Õ¤k¥�«ØÓ1«u·bÐ1Ï=¦b¹�£�­
H ≥ − ì¬í IC ²/¦b¥m­�«¬¸Ò¤k¥§«¬Ï�¹¯¤�«¬¦�£¯¸?¦b²=¦b¤k¼¯®]¥

IC Ú ³]¦b¶D¨�ÐÑ®J° «Ñ¤x©³]Ðu·|¸�¸�®#¸ + ½Î:¥�«Ø¤k«¬£¯» *�� + ­�«Ñ¥�®]³J¤kÐØ©Ù«¬£Ù¤�®]¥§¶D¸�¦b² IC(P ) × ®�¦�Ï¯¤k·b«¬£ ¤�¼�®�«¬£�®�L1¹�·bÐ¬«Ø¤k«¬®#¸
H(P ) ≥ αk − βk IC(P ) ; k ≥ 1 * = +

4



× «Ñ¤k¼ αk
·b£�­

βk
»�«ÑÓb®]£ Ó1«u·�¤k¼�®�³#¦�£�¸§¤k·b£_¤k¸

uk = ìÑí (1 +
1

k
)k = k ì¬í (1 +

1

k
) * A +

Ïg©
αk = ì¬í (k + 1) + uk , * g +
βk = (k + 1)uk . *�� +

[�¦b¤�®�¤�¼�·|¤
uk ↑ 1

½Y�,x£2¤k¼�®�¨�¥�®#¸�®#£g¤Ù¨�·b¨S®]¥ × ®�¸�¼�·bÐÑÐ�­�®#Ób®]Ð¬¦b¨ ¸�¼�·b¥�¨S®]¥D«¬£�®�L1¹�·bÐ¬«Ø¤k«Ñ¤�®]¸�¤�¼�·b£K¤�¼�¦�¸§®·bÏ=¦AÓb®�Ï_©�·b­¯­�«¬£�»�·�¸�®#³]¦�£¯­Ö¦b¥�­�®#¥�¤k®#¥�¶�½�H�¦�¥�®�¨¯¥�®]³#«¬¸§®]ÐÑ©bª=²/¦�¥
k ≥ 1

ª × ®�­�®]£¯¦b¤k®Ïg©
γk

¤�¼�®�Ðu·b¥§»�®]¸Ò¤Õ³]¦�£¯¸§¤Y·|£g¤�¸�¹¯³Y¼�¤k¼�·|¤Õ¤k¼�®�«Ñ£�®qLg¹�·bÐÑ«Ñ¤x©
H ≥ ìÑí k MRk + ìÑí (k + 1) (1 −MRk) +

γk

2k
MRk(1 −MRk) * &
� +

¼�¦�Ð¬­¯¸m²/¦�¥�·bÐÑÐ
P ∈M1

+(N)
½�-�®#¥�®bª

H = H(P )
·b£�­

MRk = MRk(P )
½8¡?°¯¨¯¥�®]¸§¸�®#­­�«¬¥§®]³#¤�ÐÑ©�«¬£ ¤k®#¥�¶�¸Õ¦b²

IC = IC(P )
ª * &
� + ¸§¤k·|¤k®#¸-¤�¼�·|¤

H ≥ αk − βk IC +
γk

2
k(k + 1)2

(

IC − 1

k + 1

) (

1

k
− IC

)

* &�& +
²/¦�¥

P ∈ M1
+(N)

½ÔÕ¼�®�Ï�·|¸�«¬³�¥§®]¸�¹¯ÐÑ¤k¸Õ¦|²m¦�¹�¥Õ¨�·b¨=®#¥�¶�·�©ÙÏS®�¸�¹�¶�¶D·b¥�«ja]®]­�·|¸�²/¦bÐ¬Ð¬¦ × ¸ T
ÔÕ¼�®�³]¦�£�¸Ò¤Y·b£_¤�¸

(γk)k≥1
«Ñ£�³]¥§®�·b¸§® × «Ñ¤�¼ γ1 = ìÑí 4 − 1 ≈ 0.3863

·b£�­
× «Ø¤k¼�Ð¬«Ñ¶D«Ø¤ÍÓ|·bÐÑ¹�® γ ≈ 0.9640

½
H�¦b¥�®�¸§¹�Ï�¸§¤k·b£�³#® × «ÑÐ¬Ð�ÏS®�»�«ÑÓb®]£�¤�¦Ù¤k¼�«Ñ¸ ¥�®#¸�¹�ÐØ¤�Ï_©�­�®JÓ�®#Ð¬¦�¨�«Ñ£�»Ù¥�·|¤k¼�®#¥%£�·b¥§¥�¦ ×Ï=¦�¹¯£�­�¸�²/¦�¥�¤k¼�®

γk

Vë¸�«¬£ ¤�®]¥�¶�¸Õ¦b²
γ
·b£¯­�Ï_©�¦b¤�¼�®]¥Õ¶�®�·|£�¸]½ÔÕ¼�®Ö¥�®�X�£�®#­ ¸�®#³]¦�£�­ ¦�¥�­¯®]¥�«¬£�®�L1¹�·bÐ¬«Ø¤k«¬®#¸ ·b¥§®:¼�®#¥�®Ö¨�¹�Ï�ÐÑ«¬¸§¼�®]­ «¬£ ¤k¼�®#«¬¥�¦ × £¥�«¬»b¼g¤]½DÔÕ¼¯®�·b¹ ¤k¼�¦�¥§¸O¶�¦b¤�«ÑÓ|·|¤k«Ñ¦�£)¤�¦�­�®JÓ�®#Ð¬¦�¨�¤k¼�®#¸�®DÏ=¦�¹¯£�­�¸VÐ¬«¬®#¸�«¬£Ö·b¨�¨¯Ð¬«¬³]·|¤k«Ñ¦�£�¸¤k¦�¨�¥§¦�Ï�ÐÑ®]¶�¸V¦|²Õ®J°¯·b³J¤h¨�¥�®#­�«¬³J¤k«Ñ¦�£:«Ñ£¢Û�®#¥�£�¦b¹�Ð¬ÐÑ«�¶D¦1­�®]ÐÑ¸]½G� ®#®D¤k¼¯®�­�«Ñ¸�³]¹¯¸�¸�«Ñ¦�£¢«Ñ£� ®]³J¤k«¬¦b£�D¯½

� �=ô���	jõ÷üjû÷ü?ø��Et#üÒþ�õ ø[ð�	�þbôJù��yý�ñW�nôJõBû÷ï�ü uk
�Aó�ï�ð�	 ï/�
�]ð ø��p�q���
vÕøkÿ�þbü?ù|ñ6ü�ý�û÷ô�ô#þAû÷øJðE��	jô���	jõ÷üjû÷ü�òôYóPüÒõBþ|ô#ù��yý�ñ��nôJõ H(P ) �yø[õ÷ü�tJð��Jü�� þ�ÿ

2k

2k + 1
≤ uk ≤ 2k + 1

2k + 2
.

îBïyðòñ��nô��E�òôYó�ñBýAðòõêü1	xû��òÿ3�nõ÷ô�vr�p���Pô���� � �o�ÑøJñ uk = λ( 1

k
) ð�� ûêï�üY�yô[û÷ø[ûêðòô�� ô�� ûêïyø[û�v�ø���ùyñ�	ÒõêðòúAû���%

�



� ¿ÁÀ)��Ë#Â Å��3��ÇM�[Ì��
ÔÕ¼�®�7b®J©�¤k¦�¦�¹�¥�¥§®]¸§¹�ÐÑ¤�¸�«¬¸�¤k¼�® «¬£�®�L1¹�·bÐ¬«Ø¤x© * D + × «Ø¤k¼ x ­�®J¤k®#¥�¶�«¬£�®#­ÙÏ_© * 4 +�� ½�ÔÕ¼�«Ñ¸Ð¬®�·|­�¸Õ¤k¦h¤k¼�®�²/¦�ÐÑÐ¬¦ × «¬£¯»h·b£�·bÐØ©g¤k«¬³]·bÐP®[° ¨�¥�®#¸�¸�«Ñ¦�£�¦b² γk T ��/¡¢¡¤£i¥§¦<¨ áyà

k ≥ 1
æ1Ýª©qÞPÝ

fk : [0, 1] → [0,∞] « ã

fk(x) =
2k

x2(1 − x2)

[

−k + x

k + 1
ì¬í (

1 +
x

k

)

− 1 − x

k + 1
ìÑí (1 − x) + x2 ì¬í

(

1 +
1

k

)]

.

¬�|�ÝJÞ
γk = inf{fk(x) | 0 < x < 1} ­

®�àkáAájè ­ Û�©h¤k¼�®-­�®�X�£�«¬£�»O¥�®#Ðu·|¤�«¬¦�£ * &¯� + ·b£�­�Ï_© * D + × «Ñ¤�¼ x »�«ÑÓb®]£�Ï_© * 4 + ª ¥§®]³]·bÐ¬ÐÑ«¬£�»·bÐ¬¸§¦!¤�¼�®�¥�®#Ðu·|¤�«¬¦�£ * K + ª × ®�¥�®]·bÐ¬«ja]®%¤k¼�·|¤ γk

«¬¸�¤k¼¯®V«Ñ£CX�¶�¹¯¶ ¦AÓ�®#¥
x ∈]0, 1[

¦b²
2k

x2(1 − x2)

[

H ((1 − x)Uk+1 + xUk) − ì¬í k · x2 − ìÑí (k + 1) · (1 − x2)
]

.

Îº¥§«Ñ¤k«Ñ£�»-¦�¹¯¤?¤�¼�®�®#£_¤k¥�¦b¨g©O¦b²
(1−x)Uk+1+xUk × ®]X�£�­�¤�¼�·|¤ ¤k¼�®�²/¹¯£�³#¤�«¬¦�£O­�®�X�£¯®]­Ïg© ¤�¼�«¬¸Õ®[° ¨�¥�®#¸�¸�«Ñ¦�£)«Ñ¸�¤k¼�®�²/¹�£¯³#¤k«Ñ¦�£

fk

½
, ¤-«¬¸�¹�£¯­�®]¥§¸§¤k¦1¦1­�¤�¼�·|¤

fk(x)
«¬¸Õ­�®�X�£�®#­�Ï_©�³]¦�£_¤k«Ñ£g¹�«Ñ¤x©Ù²/¦b¥

x = 0
·|£�­

x = 1
½� £�·b¨�¨�ÐÑ«¬³�·y¤k«¬¦b£Ù¦b²8ÐxVE-±°�¸§¨�«Ñ¤k·bÐ¬¸�¥§¹�Ð¬®�¸§¼�¦ × ¸-¤�¼�·|¤

fk(0) = 2uk − 1 , fk(1) = ∞ . * & K +
ÔÕ¼�®#£ × ®V«¬£_Ó�®#¸§¤k«Ñ»_·|¤�®%¤k¼�®�Ð¬«Ñ¶D«Ø¤k«Ñ£�»OÏS®]¼�·AÓ1«Ñ¦�¹�¥�¦b² (fk)k≥1

²/¦�¥
k → ∞ ½

 ��/¡¢¡¤£³²�¦?¬�|�Ý�â�áyäHÞ�ß�´�äbRAÝµn�äzPhäHß
f = limk→∞ fk

Ý§ç�äbRJßzR�äHÞ
[0, 1]

NbÞSæ�äbRSObäzybÝJÞ
« ã

f(x) =
2 (−x− ì¬í (1 − x))

x2(1 + x)
; 0 < x < 1 * & D +

´�äHßª|
f(0) = 1

NbÞSæ
f(1) = ∞ ­�¶ n�ßxÝJàJÞoNbß6äzybÝ�n�ã
·

f(x) =
2

1 + x

∞
∑

n=0

xn

n + 2
; 0 ≤ x ≤ 1 . ¸ * & 4 +

¹�º ôJõ ûêï�ü�þ|ü���üe»yû?ô���ûêï�ü�õêü�øJýAü§õ�óPü�úbôJð��#ûmôJù�û ûêï|øYû û÷ï�ð ñ8ð���ü1¼#ù|ø��òð û/ÿ�	Òø���þ|ü�ýAü§õêð��Jü�ý%õ÷ø[ûêï�ü§õý�ðëõ÷ü�	jû��òÿ½�nõ÷ô�vºû÷ï�ü½¾�¿eÀ9À�ÁÃÂ"Ä�Åx¿ÇÆ�¾EÁ�È�¿�À�¿�É�Ê_ýAü��Jü��òôJúbü§ý�ð��)� Ë �Ç%MîBï�ü õ÷ü��òü��Yø��#û=úyø[õêû=ô��_ûêïyø[û��òü�v�vÕøð ñ8ûêï�ü9�nô��E�òôYó�ðE��t-õ÷ü§ñêù�� û1Ì � � f : [0, 1] → R
ð ñ�	Òô���	§øÍ�Jü Î 	jô��¯�JüeÏS�nðb% ü�%½	jô���	ÒøÍ�#üqô�� [0, ξ] �Ð	jô��¯�#üeÏô�� [ξ, 1] �nô#õmñêô�v�ü ξ ∈ [0, 1] ����ûêïyü��Ð���nô#õmø���ÿ P ∈ M1

+(N) �_û÷ï�üÒõ÷ü�üeÏAðòñ6û÷ñ k ≥ 1 ø��yýVø@	jô��q�#üeÏ	Òô�vÍþ�ðE�|øYûêðòô�� P0
ô�� Uk+1

ø��|ý Uk
ñêù�	 ï!û÷ïyøYû F (P0) ≤ F (P ) ó�ð û÷ï F ýAüe»���ü§ý�þ�ÿ F (Q) =

∑

∞

1
f(qn) Ñ Q ∈ M1

+(N) %Ò ô#õ���ø#ñBø�ú|ôYóPüÒõ�ñêüÒõ÷ðëü�ñ=ð�� x � f(x) = 2
∑

∞

0
(−1)n(1 − ln+2)x

n ó�ðëûêï ln = −∑

n

1
(−1)k 1

k

%
=



ÔÕ¼�®h¸§«¬¶�¨�Ð¬®O¨�¥�¦1¦b²jª=Ï�·b¸�®#­:­¯«¬¥�®#³#¤�ÐÑ©�¦�£ÔÓ�®]¶�¶�· & ªB«¬¸%ÐÑ®#²H¤�¤k¦Ù¤k¼¯®h¥�®�·|­�®]¥#½OÎ:®¤k¼�®#£)«¬£_Ób®]¸§¤�«¬»_·y¤k®�¸�¦b¶D®�¦b² ¤k¼¯®V¨¯¥�¦�¨S®]¥Ò¤k«¬®#¸�¦b²
f T ��/¡¢¡¤£¢Õ�¦�¬�|�Ýqè�{1ÞPéJßêä÷áyÞ

f
äbR!éYáyÞ§ybÝ§ç�·

f(0) = 1
·
f(1) = ∞ NbÞSæ

f ′(0) = −1
3
­¬�|�ÝÕàkÝ1NQn¯Þ§{/P « ÝJà x0 =

·b¥§»�¶D«Ñ£
f
äbRÃ{1Þ�ä"Öq{MÝ�n�ãVæ1ÝJßxÝJà�PhäHÞPÝ�æ « ã�áyÞPÝ�ájè�ßz|�Ý�è�á�nzn¬á�´�äHÞ/OÝ1Öq{ äzy�NQn¬ÝJÞ�ßÕéYáyÞSæbäHßêä÷áyÞCRq×

Ø ä�Ù
f ′(x0) = 0

·
Ø äHä�Ù − ì¬í (1 − x0) =

2x0(1+x0−x2

0
)

(3x0+2)(1−x0)

·
Ø äHäHä�Ù ∑∞

n=1

(

n+1
n+3

+ n−1
n+2

)

xn
0 = 1

6
­

Ú ÞPÝ�|CN�R
x0 ≈ 0.2204

NbÞSæ
γ ≈ 0.9640

´�äHßª|
γ = f(x0) = min f ­

®�àkáAájè ­ Û�©Ü¸§¤k·b£�­�·b¥§­ ­�«pÛP®#¥�®#£g¤�«u·|¤�«¬¦�£Pª�¸k·�©4Ï�·b¸§®]­ ¦b£ * & D + ª�¦�£�®�³�·|£K®JÓb·|Ð¬¹�·|¤�®
f·b£�­

f ′ ½½h%£�®�·bÐÑ¸�¦ÜX�£¯­�¸Õ¤k¼�·|¤ * « + ·|£�­ * «¬« + ·b¥§®�®qLg¹�«ØÓb·|Ð¬®]£_¤]½�ÔÕ¼�®�®qLg¹�«ØÓb·|Ð¬®]£¯³]® × «Ñ¤�¼* «¬«Ñ« + «¬¸ÕÏ�·b¸§®]­�¦�£ ¤k¼�®�®J° ¨�·|£�¸�«Ñ¦�£

f ′(x) =
2

(1 + x)2

∞
∑

n=0

(

n + 1

n + 3
+
n− 1

n+ 2

)

xn

× ¼�«¬³Y¼�²/¦�Ð¬ÐÑ¦ × ¸Õ¥�®�·|­�«¬ÐØ©D²/¥§¦�¶ * & 4 + ½ÔÕ¼�®�³#¦�£_Ó�®J° «Ø¤x©�ªS®#Ó�®#£)¸Ò¤k¥�«Ñ³#¤]ª�¦b²
f
²H¦�Ð¬ÐÑ¦ × ¸�·|¸ f ³]·b£�Ï=® × ¥�«Ø¤�¤�®]£�«¬£ ¤k¼¯®�²/¦b¥�¶

f(x) =

(

2

3
+

1

3
· 1

1 + x

)

+

∞
∑

n=2

2

n+ 2

xn

1 + x
,

®�·b¸§«¬ÐÑ©�¥�®#³]¦�»�£¯«ba�·|Ï�Ð¬®�·b¸-·h¸�¹¯¶ ¦b² ¤ × ¦�³]¦�£_Ób®J°�²/¹�£�³J¤k«¬¦b£�¸]½ÔÕ¼�®%·b¨�¨�¥§¦A° «Ñ¶�·|¤�®-Ó|·bÐÑ¹�®]¸Í¦b²
x0

·b£�­
γ × ®]¥§®�¦�Ï¯¤k·b«¬£�®#­�£g¹�¶�®]¥§«¬³�·|Ð¬ÐÑ©bªgÏ�·b¸�®#­ ¦�£¤k¼�®�®J° ¨�¥§®]¸§¸�«¬¦b£)«¬£ * «¬« + ½ÔÕ¼�®�³#¦�£_Ó�®]¥§»�®]£¯³]®�¦|²

fk

¤�¦
f
«Ñ¸Õ«¬£ ²6·b³J¤�«¬£�³#¥�®�·|¸�«¬£¯» T ��/¡¢¡¤£ÞÝ�¦<¨ áyà�Ý�ybÝJà[ã

k ≥ 1
·
fk ≤ fk+1 ­®�àkáAájè ­ ��¸ ·!¶�¦�¥�®�»�®#£�®]¥�·bÐ�¥�®]¸§¹�ÐÑ¤ × «ÑÐ¬ÐBÏS®O¨¯¥�¦AÓ�®#­ ·b¸�¨�·b¥Ò¤ * « + ¦b²?ÔÕ¼�®]¦�¥§®]¶ßK ª × ®¦�£�ÐÑ©�«Ñ£�­�«¬³]·|¤k®�¤k¼�·|¤�·�­¯«¬¥�®#³#¤ ¨�¥�¦1¦b²q«¬£_Ób¦�ÐÑÓ1«¬£¯»D¤k¼¯¥�®]®V¤k«Ñ¶D®#¸ ­�«pÛP®#¥�®]£_¤�«u·|¤�«¬¦�£�¦b²�¤k¼¯®²/¹�£�³#¤�«¬¦�£

∆k(x) =
1

2
x2(1 − x2)(fk+1(x) − fk(x))«¬¸Õ¥k·y¤k¼�®#¥-¸Ò¤k¥�·b«¬»�¼_¤Õ²/¦�¥ × ·|¥�­B½

 ��/¡¢¡¤£`à�¦
γ1 = ì¬í 4 − 1 ≈ 0.3863 ­

A



®�àkáAájè ­ Î:® × «¬¸§¼�¤�¦kX�£�­�¤�¼�®�Ï=®#¸§¤ * Ð¬·b¥�»b®]¸§¤ + ³]¦b£�¸§¤k·b£_¤ c ¸§¹�³Y¼�¤�¼�·|¤

H(P ) ≥ ìÑí 4 · (1 − IC(P )) + 2c

(

IC(P ) − 1

2

)

(1 − IC(P )) * & � +
¼�¦�Ð¬­¯¸�²/¦�¥�·|Ð¬Ð

P ∈ M1
+(N)

ª�³J²j½ * &�& + ªq·b£�­á7g£�¦ × ¤�¼�·|¤ × ® ¦�£¯ÐÑ©:£�®]®#­4¤�¦ × ¦�¥�¥Ò©·bÏ=¦b¹¯¤V­�«¬¸Ò¤k¥�«ÑÏ�¹¯¤�«¬¦�£�¸
P ∈ M1

+(2)
½kÓ�®#¤

P = (p, q)
ÏS®!¸�¹�³Y¼º· ­�«¬¸Ò¤k¥�«ÑÏ�¹¯¤�«¬¦�£Bª�«ê½ë®|½

0 ≤ p ≤ 1
ª
q = 1−p ½mÔ8·Q7b® p ·b¸�«¬£¯­�®]¨S®]£�­¯®]£_¤�Ób·|¥�«u·|Ï�Ð¬®�·b£�­!­�®�X�£�®-¤�¼�®�·b¹ ° «ÑÐ¬«u·|¥§©²/¹�£�³#¤�«¬¦�£

h = h(p)
Ï_©

h = H − ìÑí 4 · (1 − IC) − 2c(IC − 1

2
)(1 − IC) .

-�®]¥§®bª
H = −p ì¬í p− q ìÑí q ·b£�­ IC = p2 + q2 ½�ÔÕ¼¯®]£ T

h′ = ì¬í q
p

+ 2(p− q) ì¬í 4 − 2c(p− q)(3 − 4IC) ,

h′′ = − 1

pq
+ 4 ìÑí 4 − 2c(−10 + 48pq) .

ÔÕ¼1¹¯¸
h(0) = h(1

2
) = h(1) = 0

ª
h′(0) = ∞ ª

h′(1
2
) = 0

·b£�­
h′(1) = −∞ ½FM¹¯¥§¤k¼¯®]¥]ª

h′′(1
2
) = −4 + 4 ì¬í 4 − 4c

ª8¼¯®]£�³#®
h
·b¸§¸�¹�¶�®]¸V£�®]»�·|¤k«ØÓ�®!Ób·|Ð¬¹�®#¸O«Ø²

c >

ìÑí 4−1
½���¸�¸�¹¯¶D®Õ£�¦ × ¤k¼�·y¤

c < ì¬í 4−1
½8ÔÕ¼�®]£

h′′(1
2
) > 0

½�� ¸
h
¼�·b¸ * ·|¤�¶�¦�¸§¤ +¤ × ¦O«¬£Câ�®#³#¤�«¬¦�£h¨S¦�«¬£_¤�¸ * ²/¦�Ð¬ÐÑ¦ × ¸?²/¥�¦�¶ ¤k¼�®Õ²/¦�¥§¶�¹�Ð¬· ²/¦�¥

h′′ + × ®�¶�¹¯¸§¤q³]¦b£�³]ÐÑ¹�­�®Õ¤k¼�·y¤
h ≥ 0 * ¦b¤�¼�®]¥ × «¬¸�® h × ¦�¹¯Ð¬­�¼�·�Ó�®O·|¤�Ð¬®]·b¸§¤�¸§«Ø° «Ñ£Câ�®#³#¤k«Ñ¦�£�¨=¦b«¬£_¤k¸�ã + ½ÔÕ¼g¹�¸

h ≥ 0
«Ñ²
c < ìÑí 4 − 1

½�ÔÕ¼�®]£
h ≥ 0

·bÐÑ¸�¦h¼�¦bÐ¬­�¸�«Ñ²
c = ìÑí 4 − 1

½
ÔÕ¼�®�ÐÑ®]¶�¶�·�«¬¸�·b£ «¬¶�¨�¥�¦AÓb®]¶�®]£_¤Õ¦AÓ�®#¥�·b£ «¬£�®�Lg¹�·bÐ¬«Ø¤x©�®]¸§¤k·bÏ�ÐÑ«¬¸�¼¯®]­ «¬£I2Eg�6B·b¸ × ®¸�¼�·bÐÑÐB³]¦b¶D¶�®]£_¤�¶�¦�¥�®�¦�£�«¬£ä�1®]³#¤�«¬¦�£GD¯½Î «Ø¤k¼�¥�®#Ðu·|¤�«ÑÓ�®#ÐÑ©DÐ¬«Ø¤�¤kÐÑ® ®[° ¤�¥k·�®�Û=¦�¥§¤ × ®O³]·b£\X�£�­�¥�®�·|¸�¦�£�·|Ï�Ð¬®�ÏS¦�¹�£�­�¸Õ²/¦�¥Õ®]·b³Y¼¦b²8¤�¼�®

γk
V ¸-«Ñ£ ¤k®]¥§¶D¸Õ¦|²

γ
½mÎ ¼�·y¤ × ®V£�®]®#­�«Ñ¸�¤k¼�®�²/¦�ÐÑÐ¬¦ × «¬£�»�Ð¬®]¶�¶D· T ��/¡¢¡¤£`å�¦<¨ áyà

k ≥ 1
NbÞSæ

0 ≤ x < 1
·

fk(x) =
2k

(k + 1)(1 − x2)

∞
∑

n=0

1

2n+ 2
· * & = +

[

1 − x2n+1

2n+ 3

(

1 − 1

k2n+2

)

+
1 − x2n

2n + 1

(

1 +
1

k2n+1

)]

NbÞSæ
f(x) =

2

1 − x2

∞
∑

n=0

1

2n+ 2

(

1 − x2n+1

2n+ 3
+

1 − x2n

2n + 1

)

. * & A +

g



®�àkáAájè ­ Û�·b¸�®#­�¦�£ ¤�¼�®�®J° ¨�·b£�¸§«¬¦�£¯¸

−x− ì¬í (1 − x) = x2
∞

∑

n=0

xn

n + 2

·b£�­
(k + x) ìÑí (1 +

x

k
) = x + x2

∞
∑

n=0

(−1)nxn

(n+ 2)(n+ 1)kn+1

*/× ¼�«Ñ³Y¼�«Ñ¸�·bÐ¬¸§¦�¹¯¸�®]­�²/¦�¥ k = 1 × «Ø¤k¼ x ¥§®]¨�Ð¬·b³]®#­�Ï_© −x + ªM¦�£�®�¥§®�·b­�«ÑÐÑ©kX�£�­�¸�¤k¼�·|¤
− (k + x) ì¬í (1 +

x

k
) − (1 − x) ìÑí (1 − x) + (k + 1)x2 ì¬í (1 +

1

k
)

= x2

[

1 +

∞
∑

n=0

(−1)n

(n+ 2)(n+ 1)
· 1

kn+1
−

∞
∑

n=0

xn

(n + 2)(n+ 1)

(

(−1)n

kn+1
+ 1

)

]

.

æ�¨S¦�£ × ¥§«Ñ¤�«¬£�» 1
«Ñ£�¤�¼�®�²/¦�¥�¶

1 =
∞

∑

n=0

1

2n+ 2

(

1

2n+ 1
+

1

2n+ 3

)

·b£�­±³#¦�Ð¬ÐÑ®]³J¤k«¬£¯»4¤�®]¥§¶D¸ ¤ × ¦ Ú Ï_© Ú ¤ × ¦�ªO·b£�­±¸§¹�Ï�¸§®qLg¹�®]£_¤ ­¯«ÑÓ1«¬¸§«¬¦�£ Ï_©
1 − x2 ·|£�­¶�¹�ÐÑ¤�«¬¨�ÐÑ«¬³]·|¤k«Ñ¦�£hÏ_©

2k
ª * & = + ®]¶�®]¥�»b®]¸]½½}�ÐÑ®�·b¥§ÐÑ©�ª * & A + ²/¦bÐ¬Ð¬¦ × ¸q²/¥�¦�¶ * & = + Ï_©�¤Y·Q7g«Ñ£�»¤k¼�®�Ð¬«Ñ¶D«Ø¤�·|¸

k
³#¦�£_Ó�®]¥§»�®]¸�¤k¦�«¬£�X�£�«Ñ¤x©b½

ç�¹¯¤§¤k«¬£¯»!¤�¼�«¬£¯»�¸�¤k¦�»b®#¤k¼¯®]¥]ª × ®�³�·b£�£�¦ × ¨¯¥�¦AÓ�®�¤k¼�®�²/¦�ÐÑÐ¬¦ × «¬£¯»�¥�®#¸�¹�ÐØ¤ TèSé �1�M���/¡ ¥§¦äê�ÝS|CNQybÝ
γ1 ≤ γ2 ≤ · · · · γ1 = ìÑí 4 − 1 ≈ 0.3863

NbÞSæ
γk → γ´�|�ÝJàYÝ

γ ≈ 0.9640
é1NbÞ « Ý�æ1Ýª©qÞPÝ�æ?N�R

γ = min
0<x<1

{

2

x2(1 + x)

(

ì¬í 1

1 − x
− x

)}

.

¨�{1à[ßª|�ÝJà�P�áyàkÝ ·�è�áyà�Ý1N1é |
k ≥ 1

·
(1 − 1

k
)γ ≤ γk ≤ (1 − 1

k
+

1

k2
)γ . * & g +

®�àkáAájè ­ ÔÕ¼¯®äX�¥§¸§¤�¨�·b¥Ò¤k¸h²/¦�ÐÑÐ¬¦ × ­�«¬¥§®]³#¤�ÐÑ©:²/¥�¦�¶ ÐÑ®]¶�¶�·|¸ & Ú�� ½2Ô ¦Ö¨�¥�¦AÓ�®�¤k¼¯®�Ð¬·b¸§¤¸§¤Y·y¤k®]¶�®]£_¤]ª�£�¦b¤k®�¤�¼�·|¤�ª�²/¦b¥
n ≥ 0

ª
1 − 1

k2n+2
≥ 1 − 1

k2
.

, ¤8¤�¼�®]£V²/¦�Ð¬ÐÑ¦ × ¸B²/¥§¦�¶ëÓ�®]¶�¶D·<=Õ¤k¼�·|¤
(1+ 1

k
)fk ≥

(

1 − 1
k2

)

f
ª|¼�®#£�³]®

fk ≥ (1− 1
k
)f·b£�­�·b£�­

γk ≥ (1 − 1
k
)γ

²/¦�ÐÑÐ¬¦ × ¸]½
�



� «Ñ¶D«ÑÐu·b¥§ÐÑ©bª|£�¦|¤k®�¤k¼�·|¤
1+k−(2n+1) ≤ 1+k−3 ²/¦�¥ n ≥ 1 * ·b£�­D¤�¼�·|¤]ªg²/¦b¥ n = 0

ª¤k¼�®O¸�®]³#¦�£�­)¤�®]¥§¶ «¬£�¤k¼�®V¸�¹�¶�¶D·|¤k«Ñ¦�£�«¬£ * & = + Ó|·b£�«Ñ¸�¼�®#¸ + ½�ÔÕ¼�®]£)¹�¸�®SÓ�®#¶D¶D·µ=�¤�¦³]¦�£�³#Ð¬¹�­¯®�¤�¼�·|¤
(1 + 1

k
)fk ≤ (1 + 1

k3 )f
½:ÔÕ¼�® «¬£¯®qLg¹�·bÐÑ«Ñ¤x©

γk ≤ (1 − 1
k

+ 1
k2 )γ²/¦�Ð¬ÐÑ¦ × ¸#½ÔÕ¼�®!­�«Ñ¸�³#¹�¸�¸§«¬¦�£:³]¦�£_¤Y·|«¬£�¸�¶�¦�¥�®h¥§®]¸§¹�ÐÑ¤�¸]ª ®]¸�¨S®]³#«u·bÐÑÐÑ©bªB¤k¼�®!ÏS¦�¹�£�­�¸V«¬£ * & g + ·b¥§®¸�¼�·b¥§¨=®#£�®]­P½

ì í Ë���Â�Ç\����ËJÆ�È ÀOÈ�É î|ÇÙÅ8Ì�ïM��Å Åð�3��Ç\�[Ì��
ñ�{òRJß6ä ©�é1Nbßêä÷áyÞo×

ÔÕ¼�®Y:§¹�¸§¤�«jX�³]·|¤k«Ñ¦�£!²/¦�¥�¤�¼�® ¸Ò¤k¹�­ ©�¹�£¯­�®]¥Ò¤Y·Q7|®]£ ¼�®#¥�®%«Ñ¸�¤ × ¦ Ú ²/¦bÐ¬­ T � ¸�·V¸§¤�¹�­¯©D¦b²³]®]¥Ò¤Y·b«Ñ£�·b¸�¨S®]³J¤k¸Õ¦b²�¤�¼�®%¥�®#Ðu·|¤�«¬¦�£¯¸�¼�«Ñ¨�ÏS®#¤ × ®]®]£�®]£_¤�¥�¦�¨_©�·b£¯­ «¬£�­�®[°Ù¦|²8³#¦�«¬£¯³]«¬­¯®]£�³#®ó × ¼�«Ñ³Y¼ «¬¸!¨�·|¥§¤�¦b² ¤�¼�® × «¬­�®#¥!¤�¼�®]¶�®�¦b²%³#¦�¶D¨�·b¥�«Ñ£�» ¦�£�®�´-µ#£_© «-®]£_¤�¥�¦�¨_© × «Ñ¤�¼·b£�¦b¤�¼�®]¥#ª ³J²j½ä254Q6�·|£�­ô2 &
� 6 ó ·|£�­º·|¸O· ¨�¥§®]¨�·|¥k·|¤�«¬¦�£ ²/¦�¥�³#®]¥§¤k·b«¬£�¥§®]¸�¹¯ÐÑ¤k¸�¦b²Í®J°¯·b³J¤¨�¥�®#­�«¬³J¤k«¬¦b£�«¬£ ÛÍ®]¥�£¯¦�¹�Ð¬ÐÑ«�¤k¥�«¬·bÐ¬¸#½�ÔÕ¼¯®�²/¦�¥�¶�®]¥�¤x©1¨=®h¦b²W:§¹¯¸§¤k«pX�³�·y¤k«¬¦b£ × ·b¸%³�·|¥�®#²/¹¯Ð¬Ð¬®­�®�·bÐØ¤ × «Ñ¤�¼�«Ñ£G� ®]³J¤k«¬¦b£ & ½´�®]»_·|¥�­�«Ñ£�»:¤�¼�®)Ð¬·|¤�¤�®]¥D¤x©1¨S®�¦b²9:§¹�¸Ò¤k«pX�³�·|¤�«¬¦�£Pª�¥�®#Ðu·|¤�®]­ ¤�¦º¨�¥§®]­�«Ñ³#¤k«Ñ¦�£BªÕÐÑ®#¤Ù¹¯¸Ï�¥�«Ñ®�â�©�«¬£�­�«Ñ³�·|¤�® × ¼�·y¤Õ«¬¸�«Ñ£_Ó�¦�ÐØÓ�®]­P½mÎº®�³#¦�£�¸�«Ñ­�®]¥�·hÛ�®]¥§£�¦�¹�«ÑÐ¬Ð¬«M¸§¦�¹�¥�³#®�»�®]£¯®]¥k·y¤k«¬£¯»·�¸§¤�¥�«¬£¯»�¦b²�¸Ò©1¶�Ï=¦bÐ¬¸
x1, x2, x3, · · ·

²/¥�¦�¶ ·b£
n Ú ÐÑ®#¤§¤k®]¥�·bÐÑ¨�¼�·bÏS®#¤]½±F�¦�¥�¤k¼¯®�¸�¨S®]³#«u·bÐ¶D¦1­�®]Ð × ®�¼�·�Ób®�«¬£V¶�«¬£�­Bª�«Ø¤8«Ñ¸?·|¸�¸�¹¯¶D®#­O¤k¼�·|¤8¤�¼�®�¸�¦�¹�¥§³]®Í­�«¬¸Ò¤k¥�«ÑÏ�¹¯¤�«¬¦�£�«¬¸ ·-¹�£�«Ñ²/¦b¥�¶­�«¬¸Ò¤k¥�«ÑÏ�¹¯¤�«¬¦�£�¦AÓb®]¥�·%¸�¹�Ï¯¸�®#¤Í¦b²M¤k¼¯®�·bÐ¬¨�¼�·bÏ=®J¤ ó ¨S¦�¸�¸§«¬Ï�ÐØ©�¦AÓ�®#¥�¤k¼�®Õ®#£g¤�«¬¥§®�·bÐ¬¨�¼�·bÏ=®J¤�½ÔÕ¼�®Õ»�¦_·bÐ1«¬¸#ªb»�«ØÓ�®#£h«¬£_¤k®#»�®]¥§¸

0 ≤ s < t
ª�¤k¦%¶D·Q7b®qâSàkÝ�æbä÷éJßêä÷áyÞCR ¦b²

xt
s+1 = xs+1 · · ·xtÏ�·b¸�®#­�¦b£M71£¯¦ × ÐÑ®]­�»b®V¦|² xs

1 = x1 · · ·xs

½q¡YLg¹�«ÑÓ|·bÐÑ®]£_¤kÐØ©�ª¯¦b£�®�¸�®#®q7g¸�»b¦ ¦1­:éYá]æ1Ý R * ¦�¥æ1Ý RAéJàJäòâSß6ä÷áyÞCR + ¦b² xt
s+1

½ôæ�£�«jL1¹¯®�¦�¨ ¤k«¬¶D·bÐÍ¦�Ï/:§®]³J¤k¸�®J° «¬¸Ò¤�ª�¤�¼�®]¦b¥�®#¤�«¬³]·bÐ¬ÐØ©�ªqÏ�¹¯¤D·b¥§®­�«jõ�³]¹¯ÐÑ¤�ª?¦�¥�¦b²H¤�®]£¢®JÓ�®#£2«Ñ¶D¨S¦�¸§¸�«¬Ï¯Ð¬®!¤k¦�³]·bÐ¬³#¹�Ðu·|¤�®D«Ñ£¢³]ÐÑ¦�¸�®#­º²/¦�¥§¶�½�ÔÕ¼�®Ù³]®#£_¤k¥k·|Ð¤k®]³Y¼¯£�«¬³]·bÐ=¤�¦ ¦�ÐS£�®#®]­�®#­�«Ñ£Ù¦�¥§­�®]¥�¤�¦�¶D·Q7b®%®[°¯·b³#¤Õ³]·bÐ¬³#¹�Ðu·y¤k«¬¦b£�¸Í«Ñ£Ù³�·|¸�®]¸ × ¼¯®]¥�®%¤�¼�«¬¸«¬¸Õ¨S¦�¸�¸§«¬Ï�ÐÑ® ¤k¹�¥§£�¸�¦�¹¯¤Õ¤�¦�ÏS®�«¬£�®�Lg¹�·bÐ¬«Ø¤k«Ñ®]¸�¦|² ¤�¼�®�¤x©1¨=®�¼�®#¥�®�¸§¤�¹�­�«¬®#­B½]ç�¥�®]¸§®]£_¤kÐØ© «Ñ¤«¬¸ £¯¦b¤ ¨S¦�¸§¸�«¬Ï¯Ð¬®O¤�¦�¨S¦�«¬£_¤-¤k¦ÙÐÑ«Ñ¤�®]¥k·y¤k¹�¥§® × ¼¯«¬³Y¼�®[°¯¨¯Ðu·b«Ñ£�¸ «Ñ£)¶�¦�¥�®V­�®#¤k·b«¬Ð × ¼_©)¤�¼�«¬¸«¬¸�¤�¼�®�³]·b¸�®|½�-�¦ × ®#Ó�®#¥]ª�¤k¼¯®�¸�¼¯¦�¥§¤�¨¯¥�¦1³]®]®#­�«¬£¯»�¸%³]¦b£g¤�¥�«ÑÏ�¹¯¤k«Ñ¦�£¢2 � 6?¶�·�©�ÏS®�¼�®#Ð¬¨¯²/¹�Ð«¬£ ¤k¼�«Ñ¸Õ¥�®#¸�¨S®]³#¤]½
ö á�´�ÝJà « á�{1ÞSæ�R�è�áyàOæbäbRJßêà[ä « {1ßêä÷áyÞCR�á�ybÝJàSN�ß�´�á�÷�Ý�n¬Ý�P�ÝJÞ�ß½NQn â§|CN « ÝJßx×´�®]»_·|¥�­�«Ñ£�»øÓ�®]¶�¶�· � ª_¤k¼¯®<7|®#©�¥�®#¸�¹�ÐØ¤q¨�¥�¦AÓb®]­Ù«Ñ¸�¥�®�·|Ð¬ÐÑ©O¤k¼�®Õ²/¦�ÐÑÐ¬¦ × «¬£¯»�«¬£�®�L1¹�·bÐ Ú«Ñ¤x©Ù²/¦�¥�·�¤ × ¦ Ú ®#Ð¬®#¶D®#£g¤�¨¯¥�¦�Ï�·|Ï�«¬ÐÑ«Ñ¤x©D­�«¬¸Ò¤k¥�«ÑÏ�¹¯¤�«¬¦�£ P = (p, q) T

4pq

(

ì¬í 2 + ( ì¬í 2 − 1

2
)(1 − 4pq)

)

≤ H(p, q) . * & � +
Ó�®#¤D¹�¸�³]¦�¶�¨�·b¥§®�¤�¼�«¬¸ × «Ø¤k¼K¤�¼�®�Ð¬¦ × ®#¥DÏS¦�¹�£¯­�¸�³#¦�£_¤Y·b«Ñ£�®]­K«¬£4¤k¼�®�²/¦�Ð¬ÐÑ¦ × «¬£�»«¬£�®�L1¹�·bÐ¬«Ø¤k«¬®#¸�¨�¥§¦�Ób®]­�«¬£Ô2Eg�6 T

&¯�



ìÑí p ì¬í q ≤H(p, q) ≤ ì¬í p ì¬í q
ìÑí 2

, * K � +
ìÑí 2 · 4pq ≤H(p, q) ≤ ìÑí 2(4pq)1/ ù;ú 4 . * K & +

}�Ð¬®�·|¥�ÐÑ©bª * & � + «¬¸V¸�¼�·|¥�¨S®]¥�¤k¼�·b£:¤k¼�®�Ð¬¦ × ®]¥�ÏS¦�¹�£¯­º«¬£ * K & + ½ä[�¹¯¶D®#¥�«¬³]·bÐ�®#Ó1«Ñ­�®]£�³#®¸�¼�¦ × ¸ ¤k¼�·y¤�cj£�¦b¥�¶D·bÐ¬ÐØ©Ðd * & � + «¬¸Ù·|Ð¬¸�¦º¸�¼�·b¥§¨=®#¥�¤k¼�·b£å¤k¼�® ÐÑ¦ × ®#¥ÙÏ=¦b¹�£�­ «¬£ * K � +Ï�¹¯¤�ª�²/¦b¥�­�«¬¸Ò¤k¥§«¬Ï�¹¯¤�«¬¦�£¯¸�³]ÐÑ¦�¸�®�¤k¦!·h­�®#¤�®]¥§¶D«Ñ£�«¬¸Ò¤k«¬³�­�«¬¸Ò¤k¥§«¬Ï�¹¯¤�«¬¦�£Pª * K � + «Ñ¸Õ«¬£�²6·|³#¤Õ¤k¼¯®¸�¼�·b¥§¨=®#¥�¦b²8¤�¼�®�¤ × ¦¯½û:áyàkÝháyÞ ßz|�ÝhéYáyÞ§ybÝJàxO1ÝJÞPéYÝOájè
fk

ßjá
f
×

ÔÕ¼�¦b¹�»�¼)ÔÕ¼¯®]¦�¥§®]¶ & ¦�¹¯»�¼_¤�¤�¦�¸k·y¤k«¬¸Ò²H©�¶D¦b¸§¤-¥�®]·b­�®]¥§¸]ª × ®O¸�¼�·bÐÑÐ�³]¦�£_¤k«Ñ£g¹�®�·|£�­­�®]¥§«ÑÓ�®V¸�¼�·b¥�¨S®]¥-Ï=¦b¹�£�­�¸Õ¤k¼�·b£�¤�¼�¦�¸�®�«Ñ£ * & g + ½ÍÔÕ¼�«Ñ¸ × «ÑÐ¬Ð=Ï=®O·b³Y¼�«Ñ®#Ó�®#­�Ó1«u·!·!³]ÐÑ¦�¸�®#¥¸§¤k¹¯­¯©�¦b²?¤�¼�®�²/¹�£�³#¤�«¬¦�£¯¸
fk

·|£�­�¤�¼�®]«Ñ¥�³]¦�£_Ó�®#¥�»�®#£�³]®V¤k¦
f
·|¸
k → ∞ ½�ÛÍ© ÐÑ¦ ¦�7g«Ñ£�»·|¤%¨�¥§®#Ó1«¬¦b¹�¸%¥�®#¸�¹�ÐØ¤k¸#ªP£�¦b¤k·bÏ�ÐØ©�¨S®]¥§¼�·b¨�¸@Ó�®]¶�¶�· & ·b£�­)¤�¼�®�¨�¥§¦ ¦|²�¦b²qÔÕ¼�®#¦�¥�®#¶ & ª¤k¼�®�¸�¹�¸§¨�«¬³#«¬¦�£Ö«¬¸�¥�·b«¬¸§®]­�¤k¼�·y¤O«Ø¤�«¬¸�¤k¼¯®�¸§®qLg¹�®#£�³]®Ù¦|²�²/¹�£�³J¤k«Ñ¦�£�¸

(1 + 1
k
)fk

¥k·y¤k¼�®#¥¤k¼�·b£:¤k¼�®�¸�®�L1¹¯®]£�³#® ¦b²
fk

V ¸O¤k¼�·|¤�·|¥�® × ®#Ð¬Ð�Ï=®#¼�·�Ó�®]­P½�ÔÕ¼�«Ñ¸O«Ñ¸O¸§¹�¨�¨S¦�¥§¤�®]­¢Ï_©�¤k¼¯®¥�®]¸§¹�ÐÑ¤�¸q·b¸�¸§®]¶�Ï¯Ð¬®]­h«Ñ£�¤k¼¯®�¤k¼�®#¦�¥�®#¶ ÏS®]ÐÑ¦ × ª × ¼�«¬³Y¼Bªg·y¤mÐ¬®]·b¸§¤?²/¦�¥?¨�·|¥§¤k¸ * «¬« + ·|£�­ * «Ñ«¬« + ª·b¥�®�¥k·y¤k¼�®#¥Õ³]¦�¶�ÏS®]¥§¸�¦�¶�®�¤k¦!®]¸Ò¤Y·bÏ¯Ð¬«¬¸§¼ TèSé �1�M���/¡ ²�¦ Ø ä�Ù
(1 + 1

k
)fk ↑ f ·�ä ­ Ý ­ 2f1 ≤ 3

2
f2 ≤ 4

3
f3 ≤ · · · → f ­Ø äHä�ÙÜ¨ áyà�Ý1N1é |

k ≥ 1
·�ßª|�Ýqè�{1ÞPéJßêä÷áyÞ

f − (1 + 1
k
)fk

äbR�æ1ÝYéJàkÝ1N�RJäHÞ/O�äHÞ
[0, 1] ­Ø äHäHä�ÙÜ¨ áyà�Ý1N1é |

k ≥ 1
·�ßª|�Ýqè�{1ÞPéJßêä÷áyÞ

(1 + 1
k
)fk/f

äbRVäHÞPéJàkÝ1N�RJäHÞ/O�äHÞ
[0, 1] ­

ÔÕ¼�®D¤k®]³Y¼¯£�«bLg¹�® ¦b²-¨�¥§¦ ¦|² × «¬Ð¬ÐqÏS®Ù®]ÐÑ®]¶�®]£_¤Y·|¥§©�ª�¶D·b«Ñ£�ÐÑ©�Ó1«¬·�¤k¹�¥Ò¤k¹�¥§¦�¹�¸�­¯«jÛ=®]¥ Ú®]£_¤k«¬·|¤k«Ñ¦�£�¸ */× ¼�«Ñ³Y¼ ¶�·�©�Ï=®O¥�®#¨�Ðu·b³#®]­�Ï_©�³]¦ × ·b¥�­�«Ñ³]®ÜHG��ç�Ó�¡ ÐÑ¦ ¦�7 Ú ¹�¨�¸]ª�¤�¼�¦�¹�»�¼ +·b£�­ × «¬Ð¬Ð ¥�®#ÐÑ©h·|Ð¬¸�¦�¦b£�³#®]¥Ò¤Y·b«Ñ£�«Ñ£�®qLg¹�·|Ð¬«Ñ¤�«¬®#¸8²/¦�¥m¤�¼�®�Ð¬¦�»_·|¥�«Ñ¤�¼�¶�«¬³�²/¹�£�³J¤k«¬¦b£�«Ñ£�¤k®#¥�¶�¸¦b²?¥�·|¤k«Ñ¦�£�·bÐS²/¹�£�³J¤k«¬¦b£�¸]½qÔÕ¼�®�¨�¥§¦ ¦b²8«¬¸Õ¥§®]ÐÑ®]»_·|¤�®]­ ¤k¦h¤�¼�®V·b¨�¨S®]£�­�«n°=½��£ ·b£�·bÐ¬¦�»b¦�¹�¸�¥§®]¸�¹¯ÐÑ¤D·b¨�¨S®�·b¥§¸h¤k¦Ö¼�¦�Ð¬­Ü²/¦�¥h³#¦�£_Ó�®#¥�»�®#£�³]®)²/¥§¦�¶ ·|Ï=¦AÓ�®�¤k¦
f
½,x£�­�®]®#­Bª?®[° ¨=®#¥�«¬¶�®]£_¤�¸V¦b£¤Hä��ç�Ó�¡ «¬£�­�«Ñ³�·|¤�®�¤k¼�·y¤

(1 + 1
k

+ 1
k2 )fk ↓ f ·b£�­ ¤k¼�·|¤£�·|¤k¹¯¥k·bÐ�·b£�·|Ð¬¦�»�¸�¦b² * «¬« + ·b£�­ * «¬«Ñ« + ¦b²�ÔÕ¼�®]¦�¥§®]¶üK�¼¯¦�Ð¬­B½\--¦ × ®JÓ�®]¥#ª�¤k¼�«Ñ¸ × «ÑÐ¬Ð�£�¦|¤Ð¬®�·|­�¤�¦!«¬¶�¨�¥�¦AÓ�®#­�ÏS¦�¹�£¯­�¸�¦�Ób®]¥�¤k¼�¦b¸�®�­�®]¥�«ØÓ�®]­�ÏS®]Ð¬¦ × «¬£�ÔÕ¼�®#¦�¥�®#¶ýD¯½

'-Ýª©qÞPÝ�æ « á�{ ÞSæ�Rqè�áyà γk

äHÞ ßjÝJà�PSR�ájè
γ
×

� ¹¯³Y¼�ÏS¦�¹�£�­¯¸-²/¦�ÐÑÐ¬¦ × ®�·|¸�«¬ÐØ©�²/¥§¦�¶ * «¬« + ·b£�­ * «Ñ«¬« + ¦b²8ÔÕ¼�®]¦�¥§®]¶þK TèSé �1�M���/¡ Õ�¦3¨8áyà�Ý1N1é |
k ≥ 1

·qßz|�Ýqè�á�nzn¬á�´�äHÞ/ODäHÞPÝ1Öq{ÿNQn�äHß6ä÷Ý R�|�á�nØæò×

(2uk − 1)γ ≤ γk ≤ k

k + 1
γ +

2k

k + 1
− 2k + 1

k + 1
uk . * K�K +

&Q&



®�àkáAájè ­ >�®�X�£�®V³]¦b£�¸§¤k·b£_¤k¸
ak

·|£�­
bk
Ï_©

ak = inf
0≤x≤1

(

f(x) − (1 +
1

k
)fk(x)

)

,

bk = inf
0≤x≤1

(1 + 1
k
)fk(x)

f(x)
.

ÔÕ¼�®#£
bkγ ≤ (1 +

1

k
)γk ≤ γ − ak .[-¦ × ª Ï_© * «Ñ« + ·b£¯­ * «Ñ«¬« + ¦b²�ÔÕ¼�®]¦�¥§®]¶üK�·b£�­ÖÏg©Ö·|£º·b¨¯¨�Ð¬«Ñ³�·|¤�«¬¦�£ ¦b²�ÐxVE-±°�¨¯«Ñ¤Y·|Ð¬¸¥�¹�ÐÑ®bª × ®øX�£�­�¤�¼�·|¤

ak = (2 +
1

k
)uk − 2 ,

bk = (1 +
1

k
)(2uk − 1) .

ÔÕ¼�®O«Ñ£�®qLg¹�·|Ð¬«Ñ¤x© * K�K + ²/¦bÐ¬Ð¬¦ × ¸#½[-¦b¤k®�¤�¼�·|¤q·|£�¦b¤k¼¯®]¥�¸�®J¤q¦b²S«¬£�®�Lg¹�·bÐ¬«Ø¤k«Ñ®]¸ ³�·b£!ÏS®�¦�Ï¯¤k·b«¬£�®#­hÏ_© × ¦�¥17g«¬£¯» × «Ñ¤k¼ sup«¬£�¸Ò¤k®�·|­Ù¦b²
inf

«¬£�¤k¼�®-­�®�X�£�«Ñ¤�«¬¦�£�¸�¦b²
ak

·b£�­
bk
½Y-�¦ × ®#Ó�®#¥]ª�«Ñ£�¸�¨S®]³J¤k«¬¦b£D¸§¼�¦ × ¸�¤k¼�·y¤¤k¼�®�«¬£¯®qLg¹�·bÐÑ«Ñ¤k«Ñ®]¸�¦bÏ¯¤Y·b«Ñ£�®]­ ¤�¼�·|¤ × ·A©�·|¥�® × ®�·Q7|®]¥�¤�¼�·b£ ¤k¼¯¦�¸�®V»�«ÑÓb®]£�Ï_© * K�K + ½ÔÕ¼�®V«¬£¯®qLg¹�·bÐÑ«Ñ¤k«Ñ®]¸ * K�K + ·b¥�®V¸�¼�·b¥�¨S®]¥�¤k¼�·|£ * & g + ¦b²mÔÕ¼�®#¦�¥�®#¶ & Ï�¹ ¤ ÐÑ®]¸�¸�¤k¥�·b£�¸ Ú¨�·b¥�®#£_¤�½µ� «Ñ¶D¨¯Ð¬®]¥�Ï=¦b¹�£�­�¸�³�·|£ÖÏS®h¦�Ï¯¤k·b«¬£¯®]­ Ï_© ®J° ¨�ÐÑ¦�«Ñ¤�«¬£�»DÐ¬¦ × ®]¥�ÏS¦�¹�£�­�¸�²/¦�¥ uk* ¦�Ï¯¤k·b«¬£¯®]­�²/¥§¦�¶ Ð¬¦ × ®]¥-Ï=¦b¹�£�­�¸-²/¦�¥ ì¬í (1 + x)
ªS³#²j½ø25g�6 + ½±h%£�®V¸�¹�³Y¼ ÐÑ¦ × ®]¥-ÏS¦�¹�£�­«¬¸Õ»�«ØÓ�®]£�«¬£ ²/¦1¦b¤k£¯¦b¤k®µ2EK�6�·b£¯­�ÐÑ®�·b­�¸�¤�¦h¤k¼�®�«¬£¯®qLg¹�·bÐÑ«Ñ¤k«Ñ®]¸

2k − 1

2k + 1
γ ≤ γk ≤ k

k + 1
γ . * KQD +

h ²�³#¦�¹�¥§¸�®bª ¤k¼�®!¹�¨¯¨=®#¥OÏS¦�¹�£�­:¼�®]¥§®D«Ñ¸V·bÐ¬¸§¦�·�³]¦b£�¸�®�L1¹¯®]£�³#® ¦b²�¤�¼�®!¥�®]Ð¬·|¤k«ØÓ�®#ÐÑ©¸�«¬¶�¨�ÐÑ®�¨�¥§¦�¨=®#¥§¤x© * « + ¦b²�ÔÕ¼�®]¦�¥§®]¶ K1½OÎ ¼�®#£�©b¦�¹Ö·b¨�¨�ÐØ©)¤�¼�®hÏ=¦b¹�£�­ * KQA + Lg¹�¦b¤�®]­²/¹�¥§¤�¼�®]¥-¦�£)¦|²?¤k¼¯®OÐÑ¦�»_·b¥§«Ñ¤k¼¯¶D«Ñ³-²/¹�£¯³#¤k«Ñ¦�£Bª�¤k¼¯®O«Ñ£�®qLg¹�·bÐÑ«Ñ¤�«¬®]¸�«¬£ * KQD + ·b¥§®O¸§¼�·b¥�¨S®]£¯®]­·b¸Õ²/¦�Ð¬ÐÑ¦ × ¸ T
6k2 − 1

6k2 + 6k + 1
γ ≤ γk ≤ k

k + 1

(

γ − 1

6k2 + 6k + 1

)

. * K�4 +
����� ��È�É Ë��
Îº®V¸�¼�·|Ð¬Ð�¼�®#¥�®V»�«ÑÓb®V¤�¼�®�¨�¥�¦1¦b²m¦|²mÔÕ¼�®#¦�¥�®#¶þK ½ÍÎ:®O£¯®]®]­�¸�¦�¶�®V·b¹ ° «¬ÐÑ«u·b¥Ò©ÙÏS¦�¹�£�­¯¸²/¦�¥m¤k¼�®�ÐÑ¦�»_·b¥§«Ñ¤k¼¯¶D«Ñ³�²/¹�£¯³#¤k«Ñ¦�£ × ¼�«¬³Y¼ × ®]¥�®-¥�®#¸�®]·b¥�³Y¼�®#­Ù«¬£h¤�¼�®]«Ñ¥�¦ × £�¥�«Ñ»�¼_¤�·b£�­�·b¥§®

& K



·AÓ|·b«ÑÐu·bÏ¯Ð¬®�²/¥�¦�¶þ2 � 6÷½Y,x£ ¨�·b¥§¤�«¬³]¹¯Ðu·b¥#ª × ®�Lg¹�¦b¤�®�·�¥�®#¸�¹�ÐØ¤�²/¦�¥Í¤�¼�® ²/¹�£¯³#¤k«Ñ¦�£
λ
­�®�X�£¯®]­Ïg©

λ(x) =
ìÑí (1 + x)

x
.Î ¼�·|¤ × ®V¼�·�Ó�®�«Ñ£�¶�«¬£¯­ «¬¸�¤k¼¯®�²/¦bÐ¬Ð¬¦ × «Ñ£�»�­�¦�¹¯Ï�Ð¬®�«Ñ£�®qLg¹�·bÐÑ«Ñ¤x© T

(2 − x)λ(y) − 1 − x

1 + y
≤ λ(xy) ≤ xλ(y) + (1 − x) , * K � +

³#²j½ * & = + ¦b²Ã2 � 6ê½�ÔÕ¼�®V«¬£¯®qLg¹�·bÐÑ«Ñ¤k«Ñ®]¸Õ¼�®#¥�®O·b¥�®�Ó|·bÐ¬«Ñ­Ù²/¦�¥ 0 ≤ x ≤ 1
·|£�­

0 ≤ y < ∞*/× «Ñ¤�¼ λ(0) = 1 + ½®ÍàkáAájè�ájè Ø ä�ÙÙájèM¬�|�ÝYáyàkÝ�P��/×
F?«n°

0 ≤ x ≤ 1
·|£�­�«¬£_¤k¥§¦ ­�¹¯³]®�¤k¼�®�¨�·|¥k·b¶�®#¤�®]¥

y = 1
k

½½ç�¹¯¤
ψ(y) = (1 +

1

k
)
x2(1 − x2)

2
fk(x) + (1 − x) ìÑí (1 − x)

*/× «Ñ¤�¼ k = 1
y + ½�ÔÕ¼¯®]£

ψ(y) =
−(1 + xy) ì¬í (1 + xy) + x2(1 + y) ì¬í (1 + y)

y
.

� Ð¬ÐÑ¦ × y
¤k¦�Ób·|¥§©�«¬£

]0, 1]
½ÕÎº® × «¬ÐÑÐ ¸§¼�¦ × ¤k¼�·y¤

ψ
«¬¸�·D­�®#³]¥§®�·b¸§«¬£�»�²/¹¯£�³#¤�«¬¦�£�¦b²

y
½ÔÕ¼�«¬¸ × «¬ÐÑÐP«Ñ¶D¨�ÐØ©D¤�¼�®�­�®]¸§«¬¥§®]­�¥�®]¸§¹�ÐÑ¤]½mÎº®�X�£¯­ T

ψ′(y) =
1

y2

(

−xy + x2y + ìÑí (1 + xy) − x2 ì¬í (1 + y)
)

× ¼�«¬³Y¼:«¬¸ ≤ 0
«¬£ Ó1«¬® × ¦b²Í¤k¼�®!¥�«Ñ»�¼_¤�¼�·b£�­:«¬£�®�Lg¹�·bÐ¬«Ø¤x©)¦|² * K � + ½k� ¸

ψ′ ≤ 0
ª
ψ
«Ñ¸­�®]³#¥�®�·|¸�«¬£¯»�·b¸�³#Ðu·b«Ñ¶D®#­B½

®ÍàkáAájè�ájè Ø äHä�ÙÙájèM¬�|�ÝYáyàkÝ�P��/×
F?«n°

k ≥ 1
·b£�­�¨�¹ ¤

ϕ = f −
(

1 + 1
k

)

fk

½�ÔÕ¼�®]£
ϕ(x) =

2

x2(1 − x2)

[

(k + x) ln
(

1 +
x

k

)

− x2(k + 1) ln

(

1 +
1

k

)

− x+ x2

]

·b£�­
ϕ′ ³�·b£�Ï=® × ¥§«Ñ¤§¤k®]£�«¬£Ù¤�¼�®�²/¦�¥�¶

ϕ′(x) =
2kx

x4(1 − x2)2
ψ(x)

× ¼�®]¥§®bª × «Ñ¤�¼ y = 1
k

ª
ψ(x) =xy(3x2 − 1) ln (1 + xy) + (4x2 − 2) ln (1 + xy)

− 2x4(1 + y) ln (1 + y) + 2xy(x3 − 2x2 + 1) .

& D



Î:®�¼�·�Ó�®�¤k¦�¨�¥�¦AÓb®�¤�¼�·|¤
ψ ≤ 0

«¬£
[0, 1]

½]h%£�®�X�£¯­�¸-¤�¼�·|¤
ψ′(x) =(9x2y − y + 8x) ln (1 + xy) − 8x3(1 + y) ln (1 + y)

+ y(8x3 − 12x2 + 2) +
3x3y2 − xy2 + 4x2y − 2y

1 + xy·b£�­Bª�²/¹�¥Ò¤k¼�®#¥]ª�¤�¼�·|¤
ψ′′(x) =(18xy + 8) ln (1 + xy) − 24x2(1 + y) ln (1 + y)

+ 24x2y − 9xy +
xy(1 − y2)

(1 + xy)2
.

FM¥§¦�¶&¤�¼�®�²/¦�¥�¶�¹�Ðu·b¸Í²/¦�¥
ψ
ª
ψ′ ·b£�­ ψ′′ ¦�£�®�X�£�­�¸�¤k¼�·|¤

ψ(0) = ψ(1) = ψ′(0) = ψ′(1) = ψ′′(0) = 0 .

FM¹¯¥§¤k¼¯®]¥�¶�¦�¥§®bª × ®O³#Ðu·b«Ñ¶ ¤�¼�·|¤
ψ′′(1) < 0

½�ÔÕ¼�«¬¸�·b¶�¦�¹�£_¤�¸�¤�¦h¤k¼�®�«¬£¯®qLg¹�·bÐÑ«Ñ¤x©

ì¬í (1 + y) >
y(8 + 7y)

(1 + y)(8 + 3y)
. * KQ= +

ÔÕ¼�«¬¸V«¬£�®�Lg¹�·bÐ¬«Ø¤x©�ª × ¼�«Ñ³Y¼º«¬¸�Ó|·bÐÑ«¬­ ²/¦�¥ y > 0
ª8¶D·�© ®]«Ø¤k¼�®#¥OÏS®!¨�¥�¦AÓb®]­¢­�«Ñ¥�®#³#¤kÐØ© Ï_©®]Ð¬®#¶D®#£_¤Y·b¥Ò© ¶D®]·b£�¸Õ¦�¥�¦�£¯®�¶�·�© ­�®#­�¹�³#®O«Ø¤�²/¥�¦�¶&¤k¼�®�¸§¤�¥�¦�£¯»�®]¥Õ«Ñ£�®qLg¹�·bÐÑ«Ñ¤x©

ì¬í (1 + y) >
3y(2 + y)

6 + 6y + y2
, * K�A +

× ¼�«¬³Y¼Bª¯«¬£�¤�¹�¥�£Bª¯«¬¸97g£�¦ × £ ²/¥�¦b¶ ¤�¼�® ¤k¼¯®]¦�¥Ò©�¦b²ðç8·b­�µ�·b¨¯¨�¥�¦�° «¬¶D·|¤k«Ñ¦�£Bªg³#²j½32 � 6 * ¤k¼¯®¥�«¬»b¼g¤�¼�·b£�­�¸�«¬­¯®�¦b² * KQA + «¬¸�¤�¼�®)ç?·b­�µV·b¨¯¨�¥�¦�° «¬¶D·b£_¤
φ2

ª�ÐÑ«¬¸Ò¤k®]­ «Ñ£�Ô?·bÏ¯Ð¬® & ¦b²92 � 6 + ½F�¹�¥Ò¤k¼�®#¥Õ­�«jÛ=®]¥§®]£_¤k«¬·|¤k«Ñ¦�£Ù©1«¬®]ÐÑ­�¸
ψ′′′(x) = 18y ln (1 + xy) − 48x(1 + y) ln (1 + y) + 9y + 48xy

− 10y

1 + xy
− y(1 − y2)

(1 + xy)2
+

2y(1 − y2)

(1 + xy)3
,

¼�®]£�³#®
ψ′′′(0) = −y3 < 0

½mÎ:®V£¯®]®]­�¤ × ¦�¶�¦�¥�®�­�«pÛP®#¥�®#£g¤�«u·|¤�«¬¦�£¯¸ T
ψ(4)(x) =

18y2

1 + xy
− 48(1 + y) ln (1 + y) + 48y

+
10y2

(1 + xy)2
+

2y2(1 − y2)

(1 + xy)3
− 6y2(1 − y2)

(1 + xy)4
,

ψ(5)(x) = − 18y3

(1 + xy)2
− 20y3

(1 + xy)3
− 6y3(1 − y2)

(1 + xy)4
+

24y3(1 − y2)

(1 + xy)5
.
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[-¦ × ª¯«Ñ² ψ ·b¸�¸§¹�¶D®#¸Õ¨=¦b¸�«Ñ¤�«ÑÓb®�Ó|·bÐ¬¹¯®]¸�«Ñ£
[0, 1]

ª
ψ′′(x) = 0 × ¦�¹�ÐÑ­ ¼�·�Ó�®�·|¤ÕÐÑ®�·b¸Ò¤4�¸§¦�Ð¬¹ ¤k«¬¦b£�¸ «Ñ£

]0, 1[
½OÔÕ¼�®#£

ψ′′′(x) = 0 × ¦�¹¯Ð¬­�¼�·�Ó�®�·|¤�ÐÑ®�·b¸Ò¤øD¯ª
ψ(4)(x) = 0

·|¤Ð¬®�·|¸§¤@KD·b£¯­
ψ(5)(x) = 0

·|¤�Ð¬®�·|¸§¤-¦�£�®�¸�¦bÐ¬¹¯¤�«¬¦�£�«¬£
]0, 1[

½9,x£�¦�¥§­�®]¥�¤k¦D·b¥�¥§«ÑÓb®O·y¤ ·³]¦�£_¤k¥�·b­�«Ñ³#¤k«Ñ¦�£Bª × ®�¨�¹¯¤ X = 1 + xy
·b£¯­�£¯¦b¤k®�¤k¼�·|¤

ψ(5)(x) = 0
«¬¸Õ®�L1¹¯«ÑÓ|·bÐ¬®#£_¤Õ¤k¦¤k¼�®�®qLg¹�·|Ð¬«Ñ¤x©

−9X3 − 10X2 − 3(1 − y2)X + 12(1 − y2) = 0 .

[�¦ × ª�¤k¼�®�Ð¬®J²H¤Õ¼�·b£¯­�¸§«¬­�®�¼�®#¥�®�«¬¸Õ¹�¨¯¨=®#¥-ÏS¦�¹�£¯­�®]­�Ï_©
−9 − 10 − 3(1 − y2) + 12(1 − y2) = −10 − 9y2 ,

·�£�®]»�·|¤k«ØÓ�®�£g¹�¶�Ï=®#¥]½ ÔÕ¼¯«¬¸ »b«ÑÓ�®#¸ ¹�¸�¤k¼�®O­�®]¸§«¬¥�®#­ ³]¦�£_¤�¥k·b­�«Ñ³#¤�«¬¦�£BªM¼�®#£�³]®
ψ ≤ 0

«Ñ£
[0, 1]

½
®ÍàkáAájè�ájè Ø äHäHä�ÙÙájèM¬�|�ÝYáyàkÝ�P��/×
��»_·b«¬£Pª�X¯°

k
·b£¯­�¨�¹ ¤

ψ(x) = 1 − (1 + 1
k
)fk(x)

f(x)
.

ÔÕ¼�®]£BªM¦�£¯³]®�¶D¦b¥�® × «Ñ¤�¼ y = 1
k

ª

ψ(x) =
(1 + xy) ì¬í (1 + xy) − x2(1 + y) ìÑí (1 + y) − xy(1 − x)

y(1 − x)(−x − ìÑí (1 − x))
.

Îº® × «¬ÐÑÐB¸�¼¯¦ × ¤k¼�·y¤
ψ′ ≤ 0

½mÎ:¥�«Ø¤k®
ψ′ «Ñ£ ¤k¼�®�²/¦�¥§¶

ψ′ =
y­�®#£�¦�¶�«¬£�·y¤k¦�¥ 2 ξ ,

× ¼�®]¥§®�cx­�®]£¯¦�¶D«Ñ£�·|¤�¦�¥�d�¥§®#²/®]¥§¸m¤k¦ ¤�¼�®Õ­�®#£�¦�¶�«¬£�·|¤�¦�¥?«Ñ£�¤k¼¯®Õ®J° ¨�¥�®#¸�¸§«¬¦�£h²/¦�¥
ψ
½?ÔÕ¼¯®]£

ξ(x) = (y ì¬í (1 + xy) − (2x+ 2xy) ì¬í (1 + y) + 2xy)
(

−x + x2 − (1 − x) ìÑí (1 − x)
)

−
(

(1 + xy) ìÑí (1 + xy) − x2(1 + y) ì¬í (1 + y) − xy + x2y
)

(2x+ ìÑí (1 − x))

= −(1 + y) ì¬í (1 + xy) ì¬í (1 − x) + x(2 − x)(1 + y) ìÑí (1 + y) ìÑí (1 − x)

− x(xy + y + 2) ì¬í (1 + xy) + 2x2(1 + y) ì¬í (1 + y) − 2xy(1 − x)2 .

, ¤�²/¦�Ð¬ÐÑ¦ × ¸�¤�¼�·|¤ ξ(0) = ξk(1) = 0
½Y,x£ ¶�¦�¥�®�­�®#¤k·b«¬ÐS¥�®#»_·b¥�­¯«¬£�»V¤k¼�®%³#¦�£_¤k«Ñ£1¹¯«Ñ¤x©D¦b²

ξ·|¤
1 × «Ñ¤k¼ ξ(1) = 0

ª�¤�¼�®ø7b®#© ²6·|³#¤�£�®#®]­�®#­)«¬¸�¤�¼�®�Ð¬«Ñ¶D«Ø¤�¥§®]Ðu·y¤k«¬¦b£

lim
x−1−

ì¬í (1 − x) · ìÑí 1 + xy

1 + y
= 0 .

& �



ÔÕ¼�«¬¸�²/¦�Ð¬ÐÑ¦ × ¸�®�·|¸�«¬ÐØ©�²/¥�¦b¶�¤�¼�® »b®]£�®#¥k·bÐS«¬£�®�Lg¹�·bÐ¬«Ø¤x© ìÑí x ≤ x−1√
x

²/¦�¥
x ≥ 1

ª ³J²j½ * & 4 +¦b²�2 � 6ê½Î:®�­�«jÛ=®]¥§®]£_¤k«¬·|¤k® T
ξ′(x) = −(1 + y)

(

y

1 + xy
ì¬í (1 − x) − 1

1 − x
(1 + xy)

)

+ (1 + y) ì¬í (1 + y) ·
(

(2 − 2x) ìÑí (1 − x) − x(2 − x) · 1

1 − x

)

−
(

(2xy + y + 2) ì¬í (1 + xy) + x(xy + y + 2)
y

1 + xy

)

+ 4x(1 + y) ì¬í (1 + y) − 2y(1 − x)2 + 4xy(1 − x) .ÔÕ¼1¹¯¸
ξ′(0) = −2y < 0

ª
ξ ′(1) = ∞ ½SF�¹�¥Ò¤k¼�®#¥�­�«jÛ=®]¥§®]£_¤k«¬·|¤k«Ñ¦�£�·|£�­�®J° ¨�Ð¬¦b«Ñ¤Y·y¤k«¬¦b£¦b²8¤�¼�®�Ð¬®J²H¤�¼�·b£�­�«¬£�®�Lg¹�·bÐ¬«Ø¤x©�¦|² * K � + »�«ÑÓb®]¸ T

ξ′′(x) =

(

2(1 + y) ì¬í (1 + y) − (1 + y)y2

(1 + xy)2

)

· (− ìÑí (1 − x))

+

(

1 + y

(1 − x)2
− 2y

)

ìÑí (1 + xy) − (1 + y)
x(2 − x)

(1− x)2 ì¬í (1 + y)

+ y

(

5 +
2

1 − x
− 1 − xy2

(1 + xy)2
− 12x

)

≥
(

2(1 + y) ìÑí (1 + y) − (1 + y)y2

(1 + xy)2

)

(− ì¬í (1 − x))

− 2y ìÑí (1 + xy) + y

(

5 +
2 − x

1 − x
− 1 − xy2

(1 + xy)2
− 12x

)

≥
(

2y − (1 + y)y2

(1 + xy)2

)

x− 2y2x + y

(

6 +
1

1 − x
− 1 − xy2

(1 + xy)2
− 12x

)

= −10xy − 2y2x− y

1 + xy
+ 6y +

y

1 − x
.

> «ÑÓ1«¬­¯«¬£�»hÏ_©
y × ®V¦�Ï¯¤Y·|«¬£Ù¤k¼¯®V®[° ¨�¥�®#¸�¸§«¬¦�£

−10x− 2xy − 1

1 + xy
+ 6 +

1

1 − x
,

× ¼�«¬³Y¼ × ®V¼�·�Ó�®�¤k¦!¨�¥§¦AÓ�®V«¬¸ ≥ 0
½�[-¦ × £�¦b¤�®�¤k¼�·|¤]ª¯²/¦�¥�X¯° ®#­

x
ª

−2xy − 1

1 + xy
≥ −2x− 1

1 + x
,

¤k¼g¹�¸ × ®V¼�·�Ó�®�¤k¦�¨�¥§¦�Ób®�¤k¼�·|¤ ζ ≥ 0 × «Ñ¤k¼
ζ(x) = −12x− 1

1 + x
+

1

1 − x
+ 6 .

& =



ÛÍ©¢¸�«¬¶�¨�ÐÑ® ­�«jÛ=®]¥§®]£_¤k«¬·|¤k«Ñ¦�£ × ®\X�£�­4¤k¼�·|¤
ζ
«¬¸!¶�«¬£�«Ñ¶�·|Ð�²/¦�¥

x = 1
2

√
2 × «Ñ¤�¼¶D«Ñ£�«¬¶�¹¯¶

6 − 4
√

2 ≈ 0.34 > 0
½��Ð¬ÐP¨�·b¥§¤�¸-¦|²?ÔÕ¼�®#¦�¥�®#¶þKh·b¥�®�¼�®#¥�®]Ï_©�¨�¥§¦AÓ�®]­P½

	 �Ãî���Åð��È�Â9�3�
2 & 6ÜHÖ½PÛ�®#£ Ú Û�·b¸�¸�·|¤�½ f Ú ®#£_¤k¥�¦b¨�«¬®#¸]ªS¨�¥�¦bÏ�·bÏ�«ÑÐ¬«Ñ¤x©�¦b²�®#¥�¥�¦b¥]ª=·b£�­)²/®]·|¤k¹�¥§®�¸§®]Ð¬®#³#¤�«¬¦�£B½
[Þ�è�áyà�PkNbßêä÷áyÞINbÞSæ��ÍáyÞ�ßêàká�n�ª§D � T KQK�A ó K�4òK ª & � AQg¯½2�K�6ÜHÖ½§F�®]­�®#¥Õ·b£�­ä[O½ÿH�®]¥§¼�·�ÓS½q´-®#Ðu·|¤�«¬¦�£�¸�ÏS®#¤ × ®]®]£�®]£_¤k¥§¦�¨_© ·b£¯­�®#¥�¥§¦�¥�¨�¥§¦�Ï�·bÏ Ú«ÑÐ¬«Ø¤x©�½
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